, e (b
ma Seciolgly ST

Set No. 1 Question Booklet No.

16P/243/3

Roll No.

Serial No. of OMR Answer Sheet FECHITRT.

Day and Date ......... — p——

(To be filled up by the candidate by blueblack ball-point pen)

- MM ki b

{ Signature of Invigilator |

INSTRUCTIONS TO CANDIDATES

(Use only blueblack ball-point pen in the space above and on both sides of the Answer Sheet)

[ B

I1.

12.
13
14,

Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to snsure that i
contains all the pages in correct sequence and that no page/questian is missing. In case of faulty
Chiestion Booklet bring it to the notice of the Supr:finrcnd:n:.-'lmigilam immediately to obtain a
fresh Question Book et

- Do not bring any loose paper, written or blank, inside the Examination Hall excepit the Adntit Card

without ity envelope.

. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Shees

shall not be provided. Only the Answer Sheer Wil be evilgated,

- Write your Roll Number and Serigl Number of the Answer Sheet by pen in the space provided

ahove

On the front page of the Answer Sheet, write by pen yoar Roll Number in the space provided o
the top and by darkening the circles a the bottom. Also, wherever applicable, write the Question
Booklet Number and the Se Nuember in appropriate pPlaces.

No averwriting is alfowed in the entries of Roll No., Question Booklet no. and Set no. (if uny)
on QMR sheer and Rolf No, and OMR sheet no. on ihe Question Bookler,

Any change in the aforesaid entries is to be verified by the invigilator, atherwise it wilf be taken
a5 unfairmeans,

Each question in this Booklet is Sollowed by four alternative answers. Far each guestion, you
are fo record te correct option on fhe Answer Sheer by darkening the appropriate circle in the

carresponding row of the Answer Sheer, a8 mentioned in the puidelines given on i
first page of the Answer Sheet, e § ’ ‘

- For each question, darken only one circle on the Answer Sheet. [T you darken mare than one circle
1
L.

or carken a circle partially, the answer will be treated as incorect,

Nare thar the answer once Silled in ink canpoi pe cha.ngm‘_ If vou do nor wish 1 aitempl i
rew blamk

;?,-_if[fri?;:- &ﬁm all the cireies in the corrasponcding .|':TH|:'|.E qurestion will be awarded

Emjcu;?:h work, use the inner back Page of the title cover and the

Deposit caiy OMR Anmswer Sheet at the end of the Test,
You are not permitted 1o leave the Examination Hall until the end of tye Tesi,

If a candidage altempts to use any form of unfai h : ;
the University may gﬂ ik I.“Eﬂ’:fj impmel:;ﬂ hli:" ms. e/she shall be liable 10 sych PURIShmeny 4

Total No. of Pringeg Pages : 64 fﬂﬁﬁ'ﬁﬁ?ﬁ'ﬁﬂﬂﬂ%ﬂ'mmﬁwﬁ

4

blank page ai the eng of thi

o -""I-','

I
W

SE AL



16P/243/3

ROUGH WORH
T i
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No. of Questions : 150

YAl T W& 150
Time : 2 Hours Full Marks : 450

A : 2 g2 qurE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattem pted
question.
Gﬁwﬁmnﬁaﬁﬁmﬁiﬁrmfﬁ]nﬁiﬁwﬁa&ﬁw}
sul w1 ) 5@ o guv & T uE oiE ser s
WeAE AT G W AAiE LT EFT

{2] If more than one alternative answers seemmn to be approximate to
the correct answer, choose the closest one,

ﬂﬁmﬁmﬂmmﬁﬁm%ﬁﬁmﬁﬁﬁ,ﬁtm
e I 2

01, Who viewed that genuine democracy would mot be possible without
the annihilation of caste ?

(1) B.R. Ambedkar (2) Jay Prakash Narain
(3) Jawahar La! Nehru {4) P.N. Prabhu

ﬁﬂ*'ﬁ“FﬂTﬁiﬁﬂﬂﬂmﬁrﬁlﬁﬂﬁﬁﬂﬁW%q
RS Ee gy 7

) Moatres sl 2) W gy e

(3) wameT T e (4) dotomy

P.T.0,
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02,

03.

An Institution can be best describe as a complex of :
1) authority (2) statuses

13) roles (4] procedures

o Ty & wAew @ § v PR S ST & U HEE
(1) == &1 (2) mftsrfel @
(3) e (4] wEferdt =

Who viewed The essence of the social group is not physical closeness

but a consciousness of joint interaction’ ?
11} Anthony Giddens (2} Stephen Cole
(2] Kingsley Davis (4] David Miliband

LS

fﬁ.ﬁngﬁww"ﬁﬁﬂﬂlﬁﬁmﬂm%ﬁiﬁﬂﬁﬂmﬂﬁ?
g wgee ST & ot o e g

(1] T e (2) %A G

|3 T 2 4] iaz ffeds

Who is the writer of the book 'In defence of Sociology - Essays,
[rterpretations and Rejoinders’ ?

(1} David Miliband (2) Stuart Hall

(731 Anthony yiddens {4y T.N. Marshall.

L et

i febe AT ARraE-sA SR e Rewes’ gw
1 s i 8 7

) 2Fre wiEs 2) TR WA

o) = s (4) ﬂaﬁaﬂ'ﬁ'ﬂiﬁ
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The essence of 'rural' is 'agriculture’. Otherwise it is only an analytical
device. Who has stated ?

(1) J.Gilbert (2) P.J.Cloke
{(3) T.Pinbey (4] K.H.Halfacree.

AT F AT G ¥ er aw oF fad Rsdwemes 49 B
e w=m & 7

(1) o freed (2) FreHo i

(3) o o= (4] FoudoRTHRH

Who has broadly classified the definitions of culture into universalistic,
hierarchical and pluralistic 7

(1) T.K. Qommen (2] Alfred Kroeber

(3] Clyde Kluckhom (4] S.T.Colridge.

PR Heglr @ aftarrell 21wl Jofas Td HA-igant Huf
H gaaEq J Tt ey & 7

(1) HoDoFaT (2) s FET

(3] =T FEwETH (4] THoTomE Ty

Who has defined -

"A community is a spatial or territorial unit of social organization in
which people have g sense of identity and feeling of belonging" »
(1) R.M. Maclver (2) Derek Phillips

(3] Anthony Giddens (4} Mike O" Donnel.

P.T.0.
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et aftenfer fam & -

“uF g Ei weA & o et A e g S g
Forads arerla =afae @1 eodraar 0F He-Tra-dl 1 sgaf ol & 1
(I} ¥RoTHo AHEAT (2) 3% Fifera

(3) A e @ i ol B

08. In rural society even now a family is like :
(1} a society {2) Community

{3} group (4] association

arsior EEET B oA o uE gRar 8 o

(1) ©H HHIS B AT (2) THE @ OTE
@) *HE W AE [4) afefe it TE

09. 'Clinical Sociology' term was used by :

(1] Louis Wirth (2 D.Martindale
13) G.A. Lundberg (4) F.E.Lumley.

Sprere WHTASTEA H HAT e I L

(1) gEd ad & (2) EromfEsd &

(3) HetoTEd 1 (4) ahofog B
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10. Society, can be properly studied if ‘latent’ and ‘manifest’ functions are -

1L.

(1) kept separate from each other

(2] allowed be come closer to each other

(3] are made contradictory to each other

(4) are not allowed to interfere with each other

AT 1 WY @ @ aremme R om wwar & oai s o4
‘I W ¥

(1) =% gHY | 94

(2) o TEY F A@fFe § @ e

(3) UH gAY F RBluym & fefy o

(4) U% THY 9§ BRET 7 @i o gl &

Which one of the following is mot functional utility of social
stratification ?

(1} it develops a spirit of struggle

{2) it helps in deciding responsibility of every one in society,

(3) it helps in allotting suitable positions to suitable persons

(4] it helps identifying unsuitable persons in society.

T F | = araies wrieT & gl sy a9 gt
T § ?

(1) 7% e ot e Rafos 5o 2

(2 ﬁmﬁnﬁm%ﬁwﬁﬁ%ﬁmﬁmﬁmﬁl

(3] ﬂﬁaﬂwﬁmﬁﬁﬁrwwaﬁﬁﬁzﬁ%ﬁwmh
(4] %Wﬁ-wmﬁmﬁmammﬁj

P.T.0,
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12.

13.

14.

Who wrote "Human Nature and Social Order’ in 1902 2

(1} E.A Ross (2) C.H. Cooley

(3] G.H. Mead (4] R.M. Maclver
1902 ¥ FFE ‘EEEE A= 0vE give AmEY femrn ¢
(11 Zo o ¥H (2} ToTTogE

(3] o UHo HZ (4) HATTOTHoHEEEY
Process of Socialization helps in establishing his/her :
(1) group identity (2] sell identity

(3] community indentity {4) social identity
AT A uihar sEd e § wedr HUl 8
(1) HEE e (2) & TEHEET
(3) TR AT (4) WSS ATRHG

Which one of the following are the most important agents of social
control in a modern industrial society ?

{i) law fii) religton i} education (iv) family
(1) iandii {2} 1 and iil
(3) iandii (4) dandiv

1} A (i) 9 (iii) TamEm (iv) afeant
(1) i i (2) iiGF iii
(3) e i (4) BT v
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15. In competitive society which one of the following does mot matter in

status formation ?

11} knowledge 2} education

(3) expertise 4]  family

wteeTEieE JAvT ¥ Py 8 3 o iy Fofer & e w8 e
g7

(1) =7 (2) famen

(3) =arm (4) aRar

16. Who coined the term ‘Social Control’ in 1894 2

(1) E.A.Ross (2] R.M. Maclver

(3] Emile Durkheim (4] A Small & George Vincent
1894 & f5aq ‘mmifrg Rygeer #l Frefoa i 7

(1) ¥olodm (2) ST.oN. Hepmeay

(3 &ge gulin {4 Uomr wd A Frede

17. Role conflict does not arise when a person is given a role -
(1}  Which one does not like
(21 Which is not conducive to his environment,
(3] When EVEry one is free 0 perform the role of his choice

(4] When each one works under a well planned system,

PF.T.0.
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18.

19.

| e il S B oo o sifae @ o g & s
B

(1) 58 g8 qoee 99 & &

(2} S TES watErer § eige el e

31 v S T ST el b arged g AR T
= Bl B

M]Eﬁﬂﬂiﬁmﬂfﬁgﬁﬁﬁﬂﬁmﬂﬁﬂ%ﬁﬂﬁqmﬁm%

The aim of social controlis to :

{1} achieve normative con formity

(2) crush deviants

[3) generate fear complex in the minds of people.

{4) achieve harmony.

A e & 3geed @

(1) wrafas srgae i O B

(2y TamerERTd @ ZPE BT

(3) S 2 frpy A W wEgw bl HEnem HTT
(4) FEEAA A BT

Who viewed ‘technological changes encoUrage the growth of largeness
in organisation, the specialisation and change in nature of work’ 7

i1} W.E.Moore {2) Charles De-Carlo

(3) Nels Anderson (4] Simon Kuznet.

10
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(1) *=™o go 73 (2) = Elo Fwt
@) 9 w=ds (4] HEEE g
Who said this ... our direct concern as sociologist is with social

relations. It is the change in these which alone we shall repard as

social change.

(1] P.Sorokin (2)  Maclver & Page
(3) V. Pareto (4] Max Weber
T8 o R &L

g

(1} dtowRifw (2) FFRET nve i
(3) dtogtey (4) TR gev

Who has written the book 'Saci Cultural Dynamics o
(1) P.Sorokin (2]  Maclver & Page
(3) V. Paretn (4] Max Weber.

(3) o qa—t""l' {4 ﬁ'm-aa-;-

11
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2% Who has given the theory of "cultural lag' ?

23!

a4, Who has gwven

(1} Toynbee (1) P.Sorokin

{(3) Ogburn & Nimkoff {4) Kingsley Diavis
ﬁﬁﬁﬁf&ﬁﬁﬁﬁmﬁ‘ﬁhﬂgﬁmﬁaﬁ'%mﬁﬁm%?
(1) Fra=E 2y @ G

(3) afrEd s FeprehITh ) Tpren 3

Who from the following has not opined cyclical theory of social change ?
(1) V.Pareto (2] Spengler

|3} Toynbee {4} HKarl marx

(1) A (2) FEIT
{3) Fr== (4] el TR

the theory of ‘cireutation of Elites &

(1) P. Sorokin (2) Spengler

3y Kark Marz (4) V. Pareto

12
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25. Who has given 'Law of Three Stages 7

(1) Karl Marx - (2] Max Weber
{3}  August Comte (4]  P,Sorokin
‘i w0 oW e e R 7

(1) et =mered (2) FreFEaET
(3] ST i [4) 9.8\

26. Who among the following has given the. 'Theory of Natural Selection?

(1) V.Percto [2) Max Weber
(3] Herbert Spencer {4} August Comte
Frefefee § & P ‘o g R far & 7

(1) droea (2} B A9w
(3) &He Shr (4) T T

27. Who among the following is mot an evolutionist 7

(1) Morgan (2] Herbert Spencer
{3) P.Sorokin 4] Darwin
Fr=ifafas & & 9 sziemard 36 & 2
(1 s (2) wd= duy
(3 =k (4) =i

13

P.T.0,
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28,

29,

30.

Who has written the book 'Mind and Society’.
(1) Karl Marx (2) V. Pareto

(3] P. Sorokin {4) Max Weber

Mind and Society (41575 s THrenadi) A JEE & S H ¥ 7
(1) i O (2) drouital
(3] drodiERT (4) FeE g9

Who among the following has divided culture inte sensate, id eational

and dealistic culture ?

(1) P.Sorokin (2) V.Parcto

(3) Karl Marx (4] Charles Darwin

ﬁmﬁmﬂﬁﬁﬁﬁﬂ%ﬂ#ﬁﬁrﬁm,wmqﬁwﬂﬁ?ﬁ
depia # dier & 7

(1) drewrEiET (2] A.aEE

3 T W (4) = ENEA

Which book has been written by P.H. Landis is 1931 7
(1) Social Change
{2} Culture Saciology

(3) Social Control
(4) Society : An Introductory Analysis

14
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9.8 ¥ 1931 7 b g 31 fran ?

(1) Hiswr S
(2) THeaa HigEET=
(3) #How TR

(4) HEEE 09 Pteadt aafiay

Whao among the following has divided social control into positive and
negative types ?

(1) E.Durkheim (2] Kimball Young
(3] Max Weber (4] Giddings

ﬁﬁﬁﬁaﬁ%ﬁmﬁmﬁmmaﬂﬂmmm
TFRE A "@er B 7

(1) go gy (2) = o4
(3) Hemday (4) FfgTg
Which one among the following is the informal agency of Sceial Control ;
(1] State (2) Religion
(3) Law (4] Police
ﬁwﬁﬁaﬁﬁﬁmﬁmﬁmﬂ%~ﬂqﬂ1ﬁzﬁ-m'ﬁmwﬁr
(1) oy (2) e
(3) @A (4)  gfere

15
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33. ‘The Elementary Forms of Religious lifc’ is written by :

34,

(1) Kingsley Davis 24  Maclver & Page

(3) Emile Durkheim (4) Gisbert

@ o g AN T aee e e © 7
(1) Tered 2y (2) HerEaT T S
(@) FmEe e (4) Fraee

Whieh one amang the following is not the means of social control ?

{1} Folk ways (2} Propaganda

(3) Public Opinion (4] Industrialisation
ﬁﬂ%ﬁaﬂﬁﬁmﬁﬁﬁﬂﬂfﬁrmﬂﬁ% 7
(1} R (2} =

(3} SHHd {4)  SAREETERTT

Yensational and unsensational forms of social control is given by

(1) Kimball Young {2) CH. Cooley

|31 Karal Manheim (4] Karl Marx
ﬁﬂwmmﬂﬁﬁmmﬁﬂ%ﬁ?ﬁ%ﬁﬂ%?
[y T 9T (2 H

3) i AR (4) @l AT

Which one among the following is not the characteristics of informal
social control.

(1 internality (2] Externahty

(3) Group welfare (4] Non-changeability

16
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Fr=fofad 9 8 s geifes P & adraits e # aewa
- &

(1) SFEvfemar (2) =g
(3) HHE HedTT] (4) Fuitad-TefemT

Which ene among the following is not the function of the state as an
agency of social control ?

(1) Humor and ridicule

(2) Law formation

{3] Protection of fundamental rights

(4} Internal and external security.

e § & o wmite fgae & aem 3 57 7 T a5 a5
=8 7

(1) &9 ag =y (2) @A F Fmte

(3) s srfemerdt & e (4) STt o= = gren

Which on of the following is not an Ashram 2

(1) Brahmcharya (2] Vonprastha
13} Sevasharam (4] Grihstha
Mt # & P o omem W B
(1) wETy (2] ITaSEr
(3) FarsH (4) IEEr

17

P.T.0,
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39,

41.

42,

Which of the following is not a Purshartha ?

(1} Parmartha {2) Arth
[3) Kaam (4] Dharma
Frafafaa # @ $m-a1 ok gewd 8 8 7
(1) omTH (2) o

(3) = 4) T

The concept of Karm is found in
(1] Bhagwad Gecta (2) Dharmashastra

(3) Puranas (4] None of the above

w9 = araeen O TR &

(1) w9Ed Tar # (2 wHomEA

(3] gan # (4) quﬁaiiixﬁﬁﬁtﬁ e
Dharm in terms of Hindno tradition means .

(1) Totemism (2} Religion

(3} Ancestoral worship (4} Moral obligation

foeg wowa | e @ ot B

(1) ErEEd 2y R

(3) TR LT (4) A =
Tylor's theory of religinh is known as .

(1) Animatism {2} Animism

&' Naturalism (4) Totemism

18
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TAAT F oo & FrErT w5 e onar & o

(1) =iEreEE (2) iEE® A1 HAREEE
(3) Oepfaam (4) TrwEm
Which of the. following is mot a characteristic of primitive religion 7
(1) Totemism (2) Transmigration of soul
(3) Taboo (4} Temple
e & | #m seondg o @ oayor 8 2 7
(1) SemEr (2) ST BT AT
(3) Py (4) wi==T
Max Muller's theory of religion is known as :
(1) Animatism {2)  Animism
(3) Naturalism (4] Totemism
Yt B ud @ T o T B
(1) frarorEmr (2} WeEE o aeEE
(3) weplaEs (4) FrerEmE
Racial theory of the origin of caste was developed by :
(1} Hocart (2] Ghurye
(3] Riesley (4] Nesfield
Y B IR B o R R P g :
(1) BrERE 3 2] gied I
(3) Reet 5 (4) Tade= 3
19

P.T.0,
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46. Louis Dumont propounded a theory in his 'Homo-Hierarchicus' which
can be termed as;

(1) Theory of Karma and Dharima

(2} Theory of occupational differentiation

(3) Principle of caste endogamy

(4] Structural principle of complementarity and separation.

@w*ﬁmﬁwmmmmqm,m%:
1) =t ofty ud = frET

(2) =mEaAiyE FEEEmT @ R

(3) oty ar: fRarE = RS

(@) ERgTEl ST FERdl w1 e =i

47. The book 'Caste : 0Old and New' is written by |

{1} Yogendra Singh (2) Andre Beteille

(3} AR.Desa: (4) D.P.Mukharjee

ez ¢ 3ieE g ' & oEd §

(1) 4= [EHe (2] @R A

(3] UoNToSHE (@) SNofoTEl
48. Who believed that monogamy I8 universal ?

(1) Westermark (2} Iravat Karve

{3) Tylor (4) Briffault

By oF frae # aEdEE qE g7

(1) e (2) SOE &4

(3) TEET (4) fereree

20
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‘Marnage by elopement’ is a form of :
(1} Tribal marriage (2) Christian marriage

(3) Muslim marriage (4] Hindu marriage

"IengE fEare’ o g B

(1) =g BEwe & [2) e EEE @

(3) #ft=m faw (4) fevg P &

Who is the author of the book entitled *The Mistory of Hurnan Marriage ?
(1 Tyler (2) Westermark

{3) Morgan (4] Kapadia

T El S g Ao T g & s A g 7

(1) ZTHET (2) F=TET

(3) WA (4) TaiE

Which of the following is not a characteristic of Hindu Joint Famity ?

(1) Common property
(2} Common Kitchen

(3) Limited size
(4] Definite hierarchy among its members

FITaE J A @ wgm et 3 Py 98 2
(1) &\r=g geafy (2) wArE @
8) SRS 4) T ¥ Bl hemm

21
P.T.0,
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52. Which of the following is correct ? OKKA 1s & .
(1) Family 2] Caste

|3) Class (4) Tribe

Fpfafige & sa-ar S 681 & ¢ SRR T

(1] offare & (2) =g B
(3} i & {4) A B

53, Who wrote the book , Joint Family in Urban Setting ?
(1) K.M. Kapadia (2} M.N. Srinivas
(3) E.A. Ross [4) A.D. Ross
‘Hﬁemﬁmﬁﬁﬁfﬁ'wﬁmﬁmﬁr% ?
(1} FoTAoFIIEHT (2] oHcu oI
(3] FoUo M (4) TofedH

54. Whao was undertaken regional study of family and kinship ?

({1} 1.P.Desai (2) Irawati Karve

(3] K.M.Kapadia (4) A.M. Shah

Wqﬁmﬁaﬁwéﬁﬂmﬁﬁﬁﬁﬁm%?
(1) oo TEE (2) el &

(3) FouH G (4) To GHo AME

22
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Which system regulates the interpersonal relationship of refatives 2

(1) Jajamani system (2] Kinship system

(3) Caste system (4) Varna system

Retert & o afes aasat 57 S srgwr Saiee w5 7
(1) ST =reeen (2) =TT =y

(3) ofer =y [4) @O SgEeE

Who introduced the idea of global village' ?

(1) Anthony Giddens (2) Marshall Mcluhan
(3) Immanuel Wallerstein {4) E. Anitat

AF A’ H Forare B a7

(1) we=ieit frg=y (2) st Herge

(3) FEum gt (4) To

In the analysis of the social and rcligious life of Coorgs of South
India, M.N. Srinivas developed the concept of :

{1} Modernization (2} Industrialization

[3] Xenocentrism (4] Sanskritization

SRV AT #T T & annies od e e 2 amrer § oq o,
A A e sraaor & Aeteg R ?

(1) smefetmTor (2) ofrerfreiay

(3] Faiaedsal (4) R

&3 P.ToO.
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58. Who wrote the book Modernization of Indian Tradition’ ?

=1 B

(1) M.N. Srinivas (2) S.C. Dubey

(3) Yogendra Singh (4) Robert Redfield

reieieE o dfEEa ifEEA A AT & W@ B € 7

(1] wH.oA. fiFEE (2] oL

(3] AOrts e (4] iad =iheE

I'he most etfective barrier to cultural diffusion is .

(1) distance {2) cultural differences
{3} mountains {4) rivers and ocean

FEgic ware FT e guE S|y #

(1) i (2) wiEgieEs e
(3) TAa (4) AfEdl ud HHE

Who has called the process of westernization as modernization ?

(1) W.E. Moore (2) Daniel Lerner
(3] Yogendra Singh (4] David Mclelland
afgersfieRoT @ T A AT e weT & 7
1 e T (2) PR T

3 "= L ) Bfe Beelidls

24
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62,
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Sanskritization and westernization as concepts are primarily focussed

to analyse :
(1] Cultural changes {2} Structural changes
[3] Agrarian changes (4] Industrial changes

ﬁﬁgﬁmqﬁqﬁaﬁrﬂwmﬁ%wﬁm:ﬁmﬁw
Fr B

(1) drpfas oftad=t = (2) HrgwTeTE gfadt 5
B) B Tl wRadt & (4) ot oRadet @

Who among the following has observed sanskritization as
Hinduization, Aryanization, Brahmanization and Indianization ?

(1) M.N. Srinivas (2] B.G. Gokhale

RS P.T.0,
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63. Who among the following has held the view that modernization 15 a

64,

value laden concept ?

(1] Yogendra Singh (2] Gunnar Myrdal

(31 M.N. Srinivas {4} B.K. Sarkar

T U e ST ¢ Fretiies § 9 9w 6
Rt & 7

(1) =E Rie (2} A HES

(3) Ao, sftETE (4) .3 G

Match list [ with list II and find out the correct answer from the
codes given below :

List [ (Dams) List 11 {States)
A, Tehri a. Orissa

B. Keel-Karo b. Jharkhand

C. Machkunda ¢, Gujarat

D. Sardar Sarvar d. Uttrakhand
Codes: A B C D

(L) d b a ¢

(2] a b v d

13} ¢ b d a

ap a4 b€

26
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@Iﬁ@nﬂgﬁﬁﬁﬂﬁﬁqaﬁ?ﬁﬁﬁﬂﬂﬁﬁﬁﬂﬁrm
difena |

T 1 (an) g u ()
A REH a I3

B. ®gw & b, FTEE
C. Hoggs c. TEAR

D. #ET "@0at d.  IErerEeE
F= : A B C D

(1) b a C

[2) a b c d

(3) c b d a

(4) a d b C

All countries pass through various stages of demographic transition.

Which one of the following is not such a stage ?

(1] Population Explosion [2] Stationary state

(3] Population stabilization (4} Optimum state

B ¥ar iy e # R omnslt & pRd ¥
P & & -t O rmen T 3 2

(1] “deEn fame (2) Regw fesfy

[3) SvEEar e (4) F=TH HaeE

2 PT.0.
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66. Maich the items is list I with those in List II and choose the correct

answer from the codes piven below :

List 1

A. High fertility
High mortality

B. High fertility
Low mortality

C. Low fertility
Low mortality

D. Low fertility

Negligible mortality

Codes: A B C D
(1] b ¢ a d
(2 a d b C
(3 c b A d
{4 b d C a

List IT

a, Developed society

b. Primitive society

¢. Developing society

d. Highly developed society
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1T A g 0 ) v B A gARE Hfn a A R
T F ¥ ¥ ow g

Sl g

A, I= UeEET a. TGS T
=T grgEE

B. T Yoewa] b.  aniREm e
=T Ty He

C. = ge==mn c. FEmdia wam
M= g Hem

D. =1 go==ar d. =9 Ol ayor
T YRy e

Codes: A B C D

(1) b e d

(2) a d b ¢

{3} € b a d

(4} b d & a

In which of the following decades has there been an abosolute decline
of population size in India @

ﬁmﬁmﬁﬁmmﬁwﬁrw%mﬁ@m

EHT 97 7
(1) 1971-198] (2] 2001 - 2011
(3] 1901-1911 (4) 1931-104]

29 P.T.0.
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68.

69,

India has missed the Industrial Revolution but cannot afford to miss

the knowledge Revolution” ....... suggested by :

(1) Women’s Commission in India

(2) Ministry of Human Resource Development

(3} Education Commission 1986

(4] Knowledge COmMmIssion
ﬁnﬁaﬁﬁrﬁmmﬁﬁrﬁfﬂwaﬁmmmﬂﬁfﬁwaﬁwﬁ
1 T - O (e gae e ?

(1) 7Y Higel sndrm 2) WrAT G A oA

(3) Tarem awdr, 1986 (4] =

Green Revolution 1s related to

(1) Agricultural growth (2] Industrial growth

(3) Milk Production {4) Service sector growth
s it aias 8

1)y R @) SRR FE

() g S (4) T A=

30
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What are the three levels of Westernization in India @
(1) Simple, complex, and multiple

(2) Primary, secondary and tertiary

(3) High, medium and low

4 Individual, community and nation

wed | ai¥edeTe & @ e Prefafan § 8 S ¥ 0

(1} W, sfew o aga 2) urafe fadfas v g
[3) =9, AEH ug e [4) =R, AYE™ oF U

As per 2011 census which of the following states of India is mosi
densily populated ?

(1) Bihar {2} Kerala

[3] Uttar Pradesh {4} West Bengal

2011 S SFFOAT & SER M & Frefofed it 3 3 e s
TTHEAT G g (e w7

(1) Fer (2] W

(3) I9T w2er (4) ufFeEy e

The Census Projection Report shows that India is one of the youngest

nations of the waorld. In the year 2020, the average age of India will be
of :

(1} 29 years (2) 30 years
(3] 31 years . (4} 32 years

3
! P.T.0,
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74.

STTTOTAT SR e wafte wvet & o wa frea o wEd gan A
% af 2020 # Wt @ ofem Iw #RN

(1) 294 (2) 30ad
(3) 31 ad (4] 3279

Who among the following actresses is the brand ambossador of Nirmal
Bharat Abhiyan’ ?

11} Madhuri Dexit (2) Kajol

(3) Vidhya Balan (4) Priyanka Chopara

Freffag 8 @ @@ snee Frefa aRe sREe # i
raast & 7

(1) wmgdt dife (2) AT

(3) TEEm AT (4) BrmE =St

In which year Ram Mohan Roy founded the 'Brahma Samaj’ 7

ﬁfﬂcﬁmﬁmw%*mmwﬁWﬁ‘m?
(1) 1772 (2) 1822 (3) 1828 (4) 1833

Where was the main field of activity of Raja Ram Mohan Roy ?

(1) Uttar Pradesh (2) Maharashtra

13) punjab (4) Bengal

a2
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78.
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o T AEs T g affaiat @ oge @9 e ar 7
(1) FaL Hee (2) wBHrs

(3) G (4) =TT

Who coined the termm Harijan’ ?
(1) Thakkar Bappa (2] Mahatma Gandhi

(3) B.R. Ambedkar {4) Baba Amte

‘gfto’ o= fasme Ran 7
(1) Z=RT &9 (2) wWEwE Tt
(3) . T =S (4) FET I

Who had spearheaded the movement against the tradition of “Sati’ ¢
(1) Raja Ram Mohan Ray (2) M.K. Gandhi

(3) Madan Mohan Malviya (4) HNone of the above

‘Fait’ T & e R en=Ses =mET oqp 7
(1) =1 W g 1y (2) TUHo o Tl
(3) Wed "BA HEd™ (4) S9dET B | wE A

The theory of wrusteeship was presented by :

(1) Raja Ram Mohan Ray (2) Bal Gangadhar Tija

(3) Mahatma Gandhi {41  Madan Mohap Malviy

33
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16P/243/3

81.

mﬂﬁmn@ﬁﬁm:
(1) = 9 ST I (2) = e e

(3) Hew A (4) W& HIES A

« From where Gandhi ji accepied the ideology of ‘Sarvodaya' ?

(1) Rousseau (2) Plato

(3) John Ruskin (4) Aristotle
it off &l wElEE & e Bed o g8 ?
(1) @l (2) EET

(3) = I (4) HIE

Maliainana PL Madan Mohan Malaviya was born in the year :

FEmT Yo WEA Hied HedE o s g6 ad g

(1} 1863 (2) 1861 (3) 1869 (4) 1872

Who edited the ‘Abhyudaya’ news paper ?
(1) Bal Gangadhar Tilak (2) Mahatma Gandhi

(3l Gopal Krishna Gokhle (4) Madan Mchan Malviya

34
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‘FvgEE’ AT AT S g R B ?
(1) == T Bes (2) wEFET Wid
(3) 9T FET MEA . (4) HEA HEE A

82. In which year Banaras Hindu University came into existence ?

Fisft fowg Rvafoem i wrew w7 g2 7

(1) 1912 . {2) 1916 (3] 1919 (4) 1920

83. Who has given the law of three stages in sociology 7
(1) August Comte | (2) Max Weber

(3] Karl Marx (4] Emile Durkheim

wAmees # A wrig R Reew sftoRe R ® 7
(1) = F= (2) e A=
3) @t A @) T g

84. Who has given the concepts of mechanical and organic solidarity ?
(1] Pareto (2] Spencer

(3] Durkheim (4] Marx

e B.T.0.
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A== Ud HETE] Tl @ sraaren i Beae ofamiea B ® 7
(1] 9=t (2) =ET
(3] gd@H {4y wrerd

85. Which school of thought has been followed by Karl Marx ?
(1) Phenomenology (2) Conflict
13} Structuralism {4) Functionalism
et et % Py e T S AT 7
1) W (2) HaioTs
(3] Hi{g@ES (4) FERTHATE

86. In sociology who studied the 'Division of labour in society’ ?
(1] Karl Marx (2) Max Weber
(3] Emile Durkheim (4] August Comte
e et # e R @ orer e e @
(1) i e () ¥ Asl
(2) o g (4) ST

36
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Who has written the book The Communist Manifesto' ?
(1) Engle's (2] Marx

[3) Engles and Marx (4) None of these

‘Fgfe BdEr s gEe e Tl #07

(1) usfed (2) =

(3) witew od wrE (4) 9 # FE 7
Who has advocated sociology as a positivistic science ?
(1) Sorokin (2) Pareto

(3] Comte (4) Parsons

Fret aomeTE A v SR ey o wde B g7
(1) = (2) 9

(3] == (4) qmm.

89. Who is said to be a functionalist from among the following ?

(1) Durkheim (2] Weber

(3) Paretg {4) Comte

37
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91.

Fretieriaa & & gerdard) BRe wer o B 7
@ @ P

Who has given the three types of authority viz. traditional, rational-
legal and charismatic ?

(1) Pareto {2) Parsons

(3] Weber (4) None of the above

goll & o e areta gogaers, aifbe-Srares aen aseni,
fEreret ofermfee fRd B 7

BRI | (2) 9HH

@) I (4) IdE 7 A g el

What is an 'ideal type' ?

(1] Logical abstraction of real events or phenomena
(2} Depiction of worldly things in an ideal form
(3] An ideological typology

(4) None of these

38
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‘st wres’ &= g 7

(1) & genat ® s SR
(@) 3P A TS W= oy A
(3) e ToerEE g

() = & @ Tl

How many types of social action are given by Max Weber ?

g A9 A Bear Feae g o aog & 7

(1 3 (2) 4 3 9 (4) -2

. Who first introduced the concept of ‘Alienation’ in to sociological theory ?

(1) Hegel (2) Karl Marx

(3) Spencer (4) None of these

- AHIETe # ‘areE = ToEre wdue feae Rar 7

(1 @ (2) Fer A
(3) = 4 = | = T8

39
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94. Who is the author of the book, “The Poverty of Philosophy’ (1847) ?

95.

(1} Veblen {2} Saint Simon

(3] Karl Marx (4) C.W. Mills

A1 Tigdl o R (1847) Yeash & oiee e E 7
(1) T (2) a1 rEEa
(3) e HTE (4) #te == e

Who believed that society is governed by certain 'Social Laws' just as
the physical universe in governed by certain physical laws ?

(1} Karl Marx (2) Auguste Comile

(3] Max Weber (4) Durkheim

wqﬁﬂﬁmwmﬁaﬂmﬁﬁﬁ‘mﬁﬁ‘%m%
£ o = & S B s ova g it Fradl & e i

Blelm & 7
(1) e e (2) ST HE
(3 B gE @) FEM

40
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Who is the auther of the book, 'The Positive Philosophy’ ?
(1] Auguste Comte [2) Karl Marx

(3) Durkheim i4) Spencer
‘& iR eeas! TR HAEE A E Y
(1) ST & (2) HIe HTEH
@) T 4] =T

Mention Twin pillars of Comte's system :
(1) Law and order
(2] Change and order

(3) Social dynamics and social statics

(4)  Social movement and social change

FE B e & A w @ graE I
(1) &g AR =Ten

(2) qREdd AT smen

B) | TOEST w wmiE S
(4) |EE AT G e oftads

41
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98. According to Comte each branch of own knowledge, passes through
three different theoretical conditions. Which one he has not

mentioned ?

(1) Theological (2) Superficial

(3) Metaphysical (4) Positive

Fh & SIET SAR S B geiE v dF AS-stET i
aanall 8 el B FRE b @ oaq g e e R 2

(1) i ' (2) Tosmem

(3) onfaefEm (4) meEr

99. According to Comte in which stage the whole human race will become
the operative social unit ?

(1) I stage (2) ™ stage

(3) 1" stage (4} 1" and 11" stage

ﬁq%ﬁﬁﬁzﬂﬂ-ﬁwﬁwwmﬂw

i gy ol

1) e T @
giwqm (4) Hﬁﬁﬂ?ﬁqw
\
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100.Who held that religious beliefs could have a major influence on

economic behaviour ?

(1) Max Weber (2] Karl Marx

(3] Durkheim {4) Veblen

T e S A1 B e vt 1 onitie et T T
EEICE A IRSE T

(1) H=m A= (2) I A

(3) @™ (4) =

101. According to Max Weber there are two principal divernsions ol
Stratification system. These are -

(1] Class and Caste {2) Class and status
(3) Class and Party (4) Party and Status
HER AT B ATERK AR el F D 9 W B d R
(1) @ ofre onfa (2} = s ufiay
@) @ AT v (4) I ofX gl

102. According to Max Weber what are the dominant institutions of
industrial society ?

(1) Bureauecratic organizations (2) Classes

(3) Castes (4) Political Partieq

43
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ﬁwaﬂ%mﬁmﬁaﬂﬁrﬁmmﬁﬁ?—ﬁnwnﬁﬁmaﬁﬁ
% 1

(1) rerremdt e @ =i
i3] T (4) wﬂﬁ?ﬁﬁ

103. Who held capitalism to be a product of Protestant religion ?
(1) Karl Marx {2) Durkheim
(3} Max Weber 4] Comte

e e 1 e gt A e o ® 7
(1) =l wve (2) 3™
(3) WeE (4) W=

104, According to Max Weber which one among the following led to
authonty 7

(1] Power combined with justice
(2] Power combined with Bureaucracy
(3] Power combined with hierarchy

(4] Power combined with legitimacy

ﬁaﬂaﬁiﬁaﬂma%ﬁﬁﬁﬁﬁﬁmﬁﬁmﬁﬁﬁﬁﬁﬁm

44
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105.Who is the author of the book, 'The Elementary Forms of Religious

Life” ?

(1) Durkheim (2) Max Weber

(3) Karl Marx (4) Comte

q el wrig otE ffefae dws gEe & aes S 8 7
(1) FEm (2) ¥ A

(3) et (4) Fh=

106.According to Durkheim, the nature of solidarity of a society can be
indicated by the :

(1) rate of suicide (2] nature of division of labour

(3) nature of religion (4) nature of economy

getH & ST Reell 9T @ goedr 1 oy 3l ow o B
(1) 3IHH e & &7 § (2) = Brears= & ol &

(3) et W Ty & (4) 3rf =reEn oo |
107. According to Durkheim what are the sources of sacredness ?

(1} Utilitarian value (2} Instinctive qualities

(3] Collective conscience (4) Super natural powers

FEM & STTAN qREer $ w5 s 2 7

(1) SEFEEE T (2) =i R

(3] EHREE s T (4) oERE il

45
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108. Who propounded first the functionalist theory of religion ?

(1) Karl Marx (2) Auguste Comte
(3) Max Weber (4) Durkheim
B GeaeE oH & UEhEEE s & T &l ¢
(1) e A (2) aTTER W

(3} Hee AE (4) TEH

109. According to Durkheim why a particular object is considered sacred ?
(1) Because it is powerful
(2] Because it is awe-inspiring
(3) Because it is useful

(4) Because it represent social force
g@n%mtmmﬁﬁﬁﬁﬁmw%?
(1) it T afdeE S
(2) wEifE a5 o Svw S ¥

(3) *&ifE T8 ITEr @l @
() s TE A e w1 Sl Bl e

110. Who has propounded the term 'False consciousness’ ?

(1) Max Weber (2] Pareto

(3) Karl Marx (4] Durkheim

46
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e ‘e 9 o= @ afouEe B g v
(1) ¥Fg a=T 2 B2
(3) el wE @) gd=

111. According to whom mode of production is the sole determinant of the
culture of a people ?

(1) Durkheim (2) Karl Marx
[3'] Sorokin (4] Spencer

RS AR # A Hegh, @ oA MuRE MR @ 5N
B B 7

(1) FEm (2) el A

@) AR (@) T

112. According to Marx, who played the most significant role in the

production process ?
(1} labour (2) capital

(31 machinery (4) technology

w%mmmmﬂmwww
87

(1) C e (2) 'l'ai\:ﬂ
(3) A (4) Sreifsy

47
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113. In which type of interview both interviewee and Interviewer are bind
by planned fined guestion ?

(I} Collective interview (2) Structured interview

{3) Unstructured interview (4) Research interview

e UEr & Tnaehl o HEET Hal U9 Ioanl sl el

giaifae ug giafiaa awl & =& & & 7
(1) HArfeE AT (2) HfEE AT
(3) TEAET HIETERT (4) STHUN TR

114, Which interview is known as "half structured interview” ?

(1) DPiagonistic interview {2) Structural interview
[3) Collective interview (4} Centered interview
s gmmeRT & ‘ot GifEE 9w @Ed & 7

(1) FrEmmEE AT (2) H=E ATEERT
(3) wrHiE® AT (4) HiET AR

115, Questionnaire method is used in :

(1) Limited area (2) Centered study area

(3) Large area (4) Al of the above

uﬁqﬁﬁﬁmﬁﬂﬁWMW%:
mﬁﬁﬁaaﬁ () @fFed HeEH & |

o
3) Foegd & H W g
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116. The questionnaire in which both open and closed ended questions

are used 15 known as :
(1) Figured - questionnaire (2) Open - ended questionnaire

{3) Mixed questionnaire (4] Close - ended questionnaire

9% Weae e gl od s S50 g $ el & et B
T 8, 39 wed €

(1) FEma gemEe (2) el wEEEEl

(3) M gyemas (4) oferETE s

117. Who has defined hypothesis as "A proposition condition or principle
which 1s assumed perhaps with beliel in order to draw out its logical

consequences”
(1} Manhiem (2) Weber
(3] Durkheim (4) Webester dictionary

ﬂaﬁrﬂ%mﬂﬁmha%r%ﬁ;“ﬁmmmﬁqm

STerd e T8 AT R owen # e s R w0 9w aigs
B

(1) HeEd (2) T
(3) 3@= (4) FET T

49
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118. The nature of social research is ;
(Y}  Social (2) Natural

(3) Political {4) Scientific

qrifires sdaE & aegpha &
(1) S (2} HEpias
(3) TrAERR (4] =R

119, Prior and post observation are related to which type of study design ?
(1} Descriptive design (2) Experimental design

(3) Daignostic design (4} Exploratory design

GER ofIT aE & wasE el g2 et 7 Y e € 7
(1) FEETomeH=R O (2) wrHifEE g
(3) e ey (4) FHEAGTEFE IS

120. Which research tool is used to collect information from a large group

of litierat responded spread in a larger arca ?
(1] Interview schedule (2] Case Study

(3) Questionnaire (4] D'?‘E'”"’amn

50
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farfer smrararedt & oF 92 @y & ga oEE & @ e S
udh o 8= F By 8, FE-61 Y IURIOT FH ghET wE A 7

(1) HEEHR -STgE (2) Sf¥ers aregge
(3) S (4) STrEERERA

121. Sampling means :
(1) Study of whole (2] Study of few

(3) Study of selected group (4) All of the above

s = argd
(1] 5T sreqa= (2] HB T AHTA
(3) TN T Tl W semmw  (4) audwe @

122.Who has used the case - study method for first time ?
(1) Le- play (2) H. Spencer
(3) Pearson 4] K. Marx
Tl e vl @ wdwe wENT fREY faar 7
(1) i (2) . WY
(3) Fradw (4) Fo A

L P.T.0,
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123.Who has written the book "Street Corner Society” ?
(1) L. A. Coser (2) Max Weber
(3) William F.Whyte (4) B. Malinowski
i T A geE e Rl ?

(1] OFo o FHIT (2) HEF F97
(3 faferaw os. s (4) 4. BT

124, Which one is not use lo measure central tendency ?
(1) Mean (2) Median
(3] Mode 4y Standrd deviation

Tpange § & S dwg gafd # AT 8§ 7

(1) =iegERr (2] HTE
(3) =Edsh (4) AT EE

125.Who said “Hypothesis is link between fact and theory" ?
(1) P.V. Young (2) Bogardus
(3] Moser (4) P.H. Mann
ﬁmﬁwﬁa“waﬁaﬁaﬁﬁfﬁﬁm%ﬁ%?
() Wodie 41 (2) FrmEH
(3) HOE (4) dred. 5
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126. In which bock Lindman has used "Participant Observation Word" ?

(1) Social Survey (2] BSocial Rescarch

(3} Social Science (4] Social Discovery
el A ‘wearh sEeEa o= W A B g # B 7
(1) wifeme a9 (2) wftaer Fee

(3) wHifqas |E= (4) wifeae fEremad

127.The value which most freguently occurs in a distribution of a set of
datas is known as !

i1) Median (2] Mode

(3} Mean (4) Average

AEpsl & B e =g # walite sros ot g s 9
Fedrn & 7

(1) =i (2] sETER

(3] HATET "5 (4} HrEd

128."Mcthed in social research” book is written by :
(1) Abrahm (2] Burgess
(3] W.J. Goode and Hatt (4] Maclver and Page

"“Hus §1 ANE REE” T gws B das 9§ o7
(1) A=EH (2) =
(3] ==g.de 2 wd B (4] AT OF Yoy
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129. Bocial Research is which type of process ?
{1} acomplex process
(2} a natural process
(3) asimple process

(4] a systematic scientific process

amieEs srgEa st # @ fe g @ afear g 7

(1] s e afeman (2] UH wwifas gEEET

13) U wEw AfEE (4) UF FHES Jsn wREE
130, Which of the: IO1U0WIng 15 not the direct source ul'pri.ma.l}’ data collection ?

(1] Questionnaire (2] Sehedule

(3] Obscrration (4] Interview

Fr=faiiiaa i @ arafis il Geed @ SaE dia - el g 7

(1) Hemasil (2) g

(3} ITEeET (4] HERIT

131. The research to become familiar with a new phenomenon to be
investigated is known as : '

(1] Diagonistic research (2 Exploratory research

3] Descriptive research (4| Experimental research

Fret g @ A H A o W & § w6
A ®

(1) P (2] IR 9

(3) TR i (4) wOECTEER S
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132. The purpose of the survey is :
(1) In depth study of social phenomena
(2] Testing of a theory
(3) Extensive coverage of population
(4] Establishing causal linkage

g ffy & aRyg §

(1) WIS GArAT &l T87 STeay
(2) FrErT #r ode

(3) wEEn W AR e

(4) FIEETT FE T AT

133. Which among the following explains the concept of crime ?
(1) Only legal {2) Only social
(3} Legal and social (4) None of the above

T | T ST 3 ST § e & 7

(1) FH® et (2} Fre gmfss

(3) HEA oF AT (4) = | K T
134.Breaking down of the aceepted norms of society is known as :

(1) Crime (2] Deviance

|3) Fashion (4) Struggle
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| i snesi et @ geen ween B
(L} 9y (2) e
(3) e (4) e

135, Which is an example of white - collar crime ?
(1) Violation of copyright (2} Murder of an individual

[3) Shop lifting (4] Burning public property

=T B F-Ar sdaaad STy W UF FEmI 7

(1) =fUEe #= IweA (2) U = W AT

(3) FFE H A GO (4) HETE HUR & S
136, Borstal schools are related to ¢

(1} White collar eriminals (2) Juvenile delinquents

[3)  Adult criminals (4) Women criminals

At e Haed ©

(1) s3eEa Ao § (2) & agd 8/

(3) aues SO Ao (4) wfgem a0 |
137. Running away from school is an example of :

(1) Juvenile delmguency (2) Crime

(3) White collar crime (4} None of the above

e @ AT STeT &

(1) T STIEH = (2) STTY W

(3) SRR S @4y T # FE Aol

56



16P/243/3

138.Juvenile Justice Bill amended by the Indian Parliament in 2015
proposes to :

(1)
(2)

(3]
(4)

Reduce the age of juvenile delinquents from 18 years to 16 years
Increase the age of juvenile delinquents from 18 years to 21
years

Reduce the age of juvenile delinguents from 16 years to 14 years

Increase the age of juvenile delinquents from 16 years to 18
yEears

| TEE H] 2015 { EET fted Bw & deiem @
wets e fmar e ko

(1)
(2}
(3}
(4)

I AYNY & B 37 18 ad & wewnt 1694 R o
wamwh%ﬁlqaﬂwaﬁﬂwzmﬁﬁﬁmﬁm
T Y § [ W 167 & qemEst 14 o e s
I 9y F fow 3w 16 Y | WewET 18 af Ry oy

139.Who has proposed the Differential Asgncialtion theory of Crime 2

(1)
(3)

Sutherland {2) Sheldon

Gluck \ (4) Cohen

Wﬁﬂﬁﬁﬁﬁﬁﬁﬁ*ﬁr%ﬁ@‘ﬁ%ﬂﬁqﬁmaﬁqg?

(1]

HETlvE (2) glFEs

(3] g% [4) rEq
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140. A prison where criminals are permitted to live with their families are
called :

(1} Open prison (2] Walled prison

(3} Both the above {4} None of the above

O Fe Tl AT oy ufta & §e-78 @9 E

(1) e T<ige (2) = F=e

(3 IuTrER ae (4) &Ef 7 | B T8
141, Which article is related to eradication of alcoholism ?

(1) Article 19 (2) Article 348

(3) Article 47 (4) Article 50

e § -l g wmeE B A § EdiE § 7

(1} =i 19 (2] HRT 348

(3) ©RT 47 (4) @I 50

142. Which is not related to casteism ?
(1} Obstacle in industrial development
(2) Cause of corruption
(3] Moral degeneration of individuals

[4) Helpful for democracy

ﬁﬁﬁﬂﬂﬁﬂﬁﬁﬁﬁﬁ_ﬁ%?
“}aﬂgﬂﬁﬁﬁ?ﬁﬁqﬂm (2) FEETER N H
oy e AR G (g S S

5B



16P/243/3

143. What is not a characteristic of parole ?
(1} Early release from the prison :
(2} The criminals who is on parole can live in the mmﬁmnitj*'
(3] Parole is granted to a criminal before sending him/her to jail
(4] The party is supervised and is expected to follow certain rules
and guidelines
g & war Ui o Risieen 98 8 7
(1) S § o Red
(2) THEE T o9 W @ Si" HYTE B T
@) B el = Se S 9 ved 0w Rar orer &
[4) Y0 9T = A arod # 33w A Tar o &

144.Crime done during one's profession is known as :
(1) White collar crime (2] General crime
[3) Professional crime (4] All the above
T WA od e el & afew & sae @ aoe B am
A AYY Fr FEd T
(1) a8 AT (2) ATIFY I
(3) =EEIYE AUy (4) T Al

145.Which is net a characteristic of alecholism -
(1} No control over drinking
(2) They know that drinking is causing problem for them
31 They want to quit drinking but they can't
(4) They are able to focus on important activities

e P.T.0.
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Eﬂﬁﬁiﬁnwﬁﬁmﬂﬁ%:

(1)
(2]

(3]
(4}

M U O FEET q BT

T Y qaT S & 7BF e & er 9 WEEat & A
FCI 95 BT 8

HIEhY | HEGW HA A BI% U
TEEyY & 97 S 34§ HeH

146, Which among the following is not a characteristic of the Sexual

Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013 ?

(1)

12)
(3]
i4)

The definition of sexual harassment has not been taken from
the Vishaka Judgement.
Hostile work environment forms a part of sexual harassment

The act covers working women in organized sectors

The act covers working women in unorganized sectors

e qr et @ addiea e gEd S 20133 FERE
§ @ - fadeer T 8 7
(1) gﬂwﬂﬁmfﬂ?ﬁmﬂ%ﬁﬁﬂ'ﬁﬁﬁﬂﬁ%

(2
{

ﬁﬁﬁwwﬁﬂmﬂwﬁﬁ%

3) @Wmﬁﬂhﬁﬂﬂﬁmﬁﬂmmﬁ
} ﬁwmﬁﬂﬁmaﬁﬁmqﬁmﬁﬁmﬁﬂ%
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147.In modern era, prisons are regarded as :
(1] Educational centres
(2] A place where criminal activities take place
(3] A place to reform an individual
(4) None of the above

Y T H TEeTE A wmen e &

(1) SrefEs $=x

(2) =% T el st aRfafgt S B
(B) wH T OB AUURE St gar s @
(4) IUERT FiE T

148. For Prostitution, which of the following statement is correct ?
{1} Legal sexual relation
(2) Socially, it is regarded as proper behaviour
(3] Itisdone asan oceupation |

(4) Prostitutes are emotionally attached to their clients

dvagh & dad ¥ gt F A v wg & 7
(1) w9 day

(2) wvnfms dR 9 98 afEd e B

(3) 9® Um =Eam b

tﬂfhmﬁuﬁﬁiimmmmﬁﬁwﬁqﬂ?ﬁﬁ&
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149, Which statement is wrong ?
(1) Regionalism is a learned behaviour
(2] Regionalism is local patriotism
{3) Regionalism is related to ethnocentricism

(4] National interest is of paramount importance in reglonalism

FI-HT HU T & ?

(1) A o dren gen ATER ¥

(2) P e dgaEE ¢

(3) Aware dondrg IepeEar § waEb §
4) = § T fea @AM B B

150. A systematic study of kinship organization in India was initiated by :
(1) LP. Desai (2) K.M. Kapadia

(3) Irawati Karve (4) None of the above

A § ATETD e a1 et orerde g B o
(1) md.dgt. 4 A @) WouHo FurEAT T
(3) gwEed w A (4) Sudm 7 | HE

0
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